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2. Lösung zur Hertzschen Pressung 

 
  

geg.:                                                                                                           ges.:                                                                         

           Mt = 500Nm                                                                                            pmax      = ? 

            l   = 100mm                                                                                            Ez1          = ? 

            r1 = 200mm                                                                                            Ez2               = ? 

            r2 =  400mm                                                                                           ٧Stahl     = ?                

            rz1 =  30mm                                                                                           ٧Alu       = ?                                    

            rz2 =  40mm                                                                                            F            = ? 

                                                                                                                            r            = ? 

 

Formel:                                                                    
 

٧Stahl        = 0,3                            (TB 12-6) 

٧Alu          = 0,3                            (TB 12-6) 

 

Ez1            = 210.000 N/mm
2           

(TB 1-1) 

Ez2            = 70.000 N/mm
2              

(TB 1-3)
 

 

    Rechnung: 
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F = N500.2                                                                   r = mm14,17  
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2.Lösung zur Hertzschen Pressung 

 

pmax = ( )212 νπ −••••
•
lr

EF

 

 

 

pmax = ( )2
2

3,0110014,172

/000.105500.2

−••••
•

mmmm

mmNN

π  

 

 

pmax = 4

22

14,9800

/000.500.262

mm

mmN
 

 

 

pmax = 
2/7,163 mmN  

 

 

 

 

 

 

 

 

 


